The x8 table

6 x 8 =48 This fact has the same answer as 8x 6 =L4S8

Remember you can multiply by 6 by multiplying by 3
and then doubling.
8x3 =24 Double 24 = 48

Notice that this fact has digits 5, 6, 7 and 8.

7 x8 =56

Say aloud the rhyme
5, 6, 7, 8, seven eights are fifty-six.

Think of a monster with 8 arms.

8 x 8=06L

On each arm of the monster there are
8 claws. Shout the rhyme

8 arms with 8 claws is 6L.

Which kite?

Draw lines to join each kite to its owner. See how quickly you can do this.
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